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1 Basic Properties of Integers I11

1.1 Quadratic Residues

Higher order congruence are more difficult to handle. We shall study a congru-
ence of the form 22 = a( mod n) for odd integer n > 1. Let us consider a general
quadratic congruence ax?® + bz + ¢ = 0(mod p), where p is an odd' prime and

a € Z;. It is clear that the ged(4a,p) = 1. So we write the congruence as

4a(az® +br+c¢) = 0(mod p)
= (2az)? +2-2ax - b+ b* — (b* —4ac) = 0(mod p)
= (2ax +b)> = (b* — 4ac)(mod p).

If we substitute y for 2ax + b and d for b* — 4ac, we get y> = d(mod p).
If = zo(mod p) is a solution of the original congruence, then y = 2axg +
b(mod p) is a solution of the transformed congruence. Again if y = yo(mod p)
is a solution of the transformed congruence, then 2ax + b = yo(mod p), i.e.
2ax9 = yo — b(mod p). The solution of this linear congruence, which always
exists as ged(2a, p) = 1, gives the solution of the original congruence. In general
we are interested about odd positive integer n.
Definition 1: Let n be an odd positive integer. An integer a is called a quadratic
residue modulo n, if ged(a,n) = 1 (a mod n belongs to Z,) and there is an
integer b such that a = b*(mod n), then z = b(mod n) is a solution of 22 =
a(mod n), and b is called a square root of a modulo n.

There are a’s that are not relatively prime to n, but satisfies the congruence
b? = a(mod n). As an example, 6 = 92(mod 15). But 6 is not called quadratic
residue modulo 15. Quadratic residue and quadratic non-residue are defined for
elements of Z,. Some of these elements are quadratic residue and others are
quadratic non-residue.

Example 1. We take n = 13, a prime number.

1 = 17 =12*mod 13),
3 = 47 =9%(mod 13),
4 = 22 =11%(mod 13),
9 = 3%=10%mod 13),
10 = 6%=7*mod 13),
12 = 5% =8%*mod 13),

There are two square roots of all the perfect squares modulo 13. There will
always be at least two square roots of 1 modulo n. One is 1 and the other is
n—1as (n—1)2 = 1(mod n). This also tells us that there will be at least two
square roots of any perfect squares modulo n.

Note that half of the elements of Z]; are perfect squares modulo 13. They are
the quadratic residues and the remaining half are the quadratic non-residues.
The collection of quadratic residues forms a subgroup of Z; .

Example 2. In the second example let us consider a composite number, n = 15.

IThe case of p = 2 is simple as Zy = {0,1}. The coefficients a, b can be either 0 or 1. So
22 + z + 1 = 0(mod 2) cannot have any solution, but z2 + 2 = 0(mod 2) has two solutions.



The elements of Z3; = {1,2,4,7,8,11, 13, 14}.

12 =4% = 11%? = 14*(mod 15),
4 = 22=7"=8?=13?= (mod 15),

We observe that only prefect squares modulo 15 are 1 and 4. But each has four
square-roots modulo 15. 1 and 4 are the two quadratic residues modulo 15. The
quadratic non-residues are 2, 7, 8, 11, 13, 14.

Example 3. In the third example we take n = 9, a power of a prime, where
Zg={1,2,4,5,7,8}.

1 = 12=8%mod 9),
= 22=7%(mod 9),
= 4% =5%(mod 9),

In this case also there are only two square roots of 1 modulo 9. So there are two
square roots of all other perfect squares (quadratic residues) modulo 9. Half of
the elements are quadratic residues.

Definition 2: Let n,m € Z and n > 0,

(Z)™ ={a™: a € Z,},

*

the collection of the m*" powers of the elements of Z;.

It is not difficult to prove the following facts
1. (Z;)™ is a subgroup of Z;.

2. Let a € Z; and let I,m € Z so that [ and m are relatively prime. If
al € (Z;)™, then a € (Z)™.

1.1.1 Quadratic Residue Modulo Odd Prime

We prove following interesting results related to any odd prime p.

Proposition 1. For any odd prime p, and ¢ € Z,), q*> = 1(mod p) if and only if
g=lorg=p—1=—1(mod p).

Proof: If g=1org=p—1,then 12=1(mod p) and (p—1)2=p*> —2p+1=
1(mod p).

In the other direction, let ¢> = 1(mod p), so p|(¢g> —1). But then p is prime, so
plg — 1 or plg+ 1. But g € Z;, we have either ¢ —1=0o0r ¢+ 1 =p. QED.

Proposition 2. 1If ¢ € (Z;)Q, where p is an odd prime, then ¢ has exactly two
square roots in Z*.

Proof: Let ¢ = a?(mod p) and also ¢ = b*(mod p). So we have a? = b%(mod
p). We multiply both sides by (b=1)? (modp) and get (ab=1)? = 1(mod p). By
the previous proposition we have ab~! = 1(mod p) or ab™! = p — 1(mod p).
So a = b(mod p) a = —b(mod p). So in Z,, a = +b i.e. there are exactly two
square roots. QED.
Proposition 3. For any odd prime p, the size of (Z)?* is 172;1.

Proof: We define the map, sq : Zy — (Z,)?,a — a*. Every image has two

P
distinct preimages, so 2|(Z;)?| = |Zy| = p — 1. QED.

Example 4. Let p = 11, (Z];)? = {12 = 1,22 = 4,32 = 9,4? = 5,52 = 3}, and
77, = {£1, 42,43, 4, £5}.

If p is an odd prime, half of the elements of Z; are quadratic residue and
other half are quadratic non-residue.
Theorem 4. (Euler’s Criterion) Let p be an odd prime and a € Z

*
D

1. a®1/2 = £1(mod p),
2. If a € (Zy)? then a?=1/2 = 1(mod p),



3. If a & (Zy)? then a(?~)/% = —1(mod p),
Proof:

1. Let b = a»1/2(mod p), so b> = a?~! = 1(mod p), by Euler’s theorem.
But we know that if b2 = 1(mod p), then b = 1,p — 1(mod p).

2. a =b*(mod p). So a?~V/2 = p?~! = 1(mod p).

3. aeZy\ (7).
We claim that for each b € Z; there is a ¢ € Zj, so that bc = a(mod p)

and b # c.
If b = ¢, then a = b*(mod p) and a € (Z;)?. Our ¢ = b~ 'a and it is
unique.

So we have the product of all elements of Z;,

H (b xpc) =a®P1/2

b,cEZ;

We also claim that for each b € Z; thereis a ¢ € Z,, so that bc = 1( mod p).
We know that there are only two elements in Z; whose square is 1. They
are 1 and p — 1. Any other b, ¢ whose product is 1 are distinct.

So we have another product of all elements of Z;,

Ha =|1x,(-1)x H bxpc| =-1

aGZ: bxpc=1,b#c
Hence the result.

QED.

Example 5. We consider p = 13 and 5 € Zj; \ (Z33)>.
5:1><135:2X139:3X136:4X1311:7X1310:8X1312.

Also
1:2X137:3X139:4X1310:5X138:6X1311.

So we have 577 = 1 x13 X13(—1) X13 1572 = —1(mod 13).
The conclusion of the Euler’s criterion is

ac (Z;;)2 if and only if aP~1V/2 = 1.

We have a byproduct of our earlier proof.

Theorem 5. (Wilson’s Theorem) If p is a prime, then (p — 1)! = —1(mod p).
Proof: We have already proved that for an odd prime Han* a = —1. This is
also true for 2 where 1 is same as —1 mod 2. QED.

Proposition 6. (Converse of Wilson’s Theorem) If n is a positive integer greater
than 1 and (n — 1)! = —1(mod n), then n is prime.

Proof: If n is not a prime, then n = ab, where 1 < a,b < n. From the given
condition we see that n|[(n — 1)! 4+ 1]. So a|[(n — 1)! + 1]. But then a|(n — 1)!
implies that a|l - a contradiction. QED.

Proposition 7. Let p be an odd prime and a,b € Z,,. If none of a, b are in (Z;)Q,
then ab € (Z;)?.
Proof: We have

(a x, b)P~D/2 = o(P=1)/2 5 p(P=1)/2 = _1 % —1 = 1(mod p).

So by the Euler’s criterion ab € (Z)?. QED.



1.1.2 Quadratic Residue Modulo Power of Odd Prime

Let p be an odd prime and k£ > 0 be an integer. We are interested about the
solution of 22 = a(mod p*) in Zyx. We have already seen characterisation in
case of k = 1. There are similar theorems for k£ > 1.

Proposition 8. Let p be any odd prime and let k£ be any positive integer. For
all ¢ € Z., ¢* = 1(mod p*) if and only if ¢ = 1 or ¢ = p* — 1 = —1(mod p*).
Proof: If ¢ = 1 or ¢ = p¥ — 1, then 12 = I(mod p¥) and (p* — 1)? =
p?* —2pF + 1 = 1(mod p*).

In the other direction, let ¢> = 1(mod p*), so p*|(¢g*>—1), implies p|(g—1)(g+1).
p is prime, so p|g — 1 or p|g+ 1. But p cannot divide both ¢ — 1 as well as g+ 1;
otherwise p divides (¢ + 1) — (¢ — 1) = 2. But that is impossible as p is an odd
prime. So p* divides either ¢ — 1 or ¢ 4+ 1. But then ¢ € Ly So if (g — 1),
then ¢ — 1 =0, and if p¥|(¢ + 1), then ¢+ 1 =p"* i.e. ¢ =p* — 1. QED.

Following sequence of propositions are similar to the case of k = 1. We leave
them as exercise.
Proposition 9. For any odd prime p and positive integer k, if g € (Z;k)Q, then
q has exactly two square roots in Z;k.
Proposition 10. For any odd prime p and a positive integer k, the size of (Z;k)Q
is @.
Proposition 11. (Generalisation of Euler’s Theorem)
Let p be an odd prime, k be a positive integer and a € Z;k..

1. a®®")/2 = +1(mod pk),
2. If a € (Z,)? then a®®")/2 = 1(mod pt),

3. If a & (Z;)* then a®®")/2 = _1(mod p*),

Proposition 12. (Generalisation of Wilson’s Theorem)
If p is an odd prime and k is a positive integer, then HGEZ;k a = —1(mod p*).
Proposition 13. Let p be an odd prime and k be a positive integer and a,b €
Lpi \ (Z;k)Q, then ab € (Z;k)z.

Finally we have the following interesting proposition.
Proposition 14. If p is an odd prime, k is a positive integer and a € Z;k, then

a is a quadratic residue modulo p if and only if it is a quadratic residue modulo

P

Proof: Let a be a quadratic residue modulo p* i.e. gcd(a,p”) = 1 and there is an
integer b so that a = b?( mod p*). So we have ged(a, p) = 1 and a = b*( mod p).
So a is quadratic residue (perfect square) modulo p.

Let a is not a quadratic residue modulo p*. If p|a, then a is not a quadratic
residue modulo p. So we assume that p fa. Using the generalised Euler’s crite-
rion we have a®®")/2 = —1(mod p*). This implies that a®®")/2 = —1(mod p).
We use the Fermat’s little theorem

k—1

-=aP  (mod p).

a=aP = (a?)?
By substituting we get,

1= @#®2 = g T2 = (T D/2 2 0 D/2 (0d ),

So a is a quadratic non-residue modulo p. QED.

1.1.3 Quadratic Residue Modulo n

Now we consider the general case of odd n, a product of odd primes.
Proposition 15. Let n be an odd integer greater than 1. The prime decom-
position of n = p' - -+ - pgt. If a € Z), is a perfect square, then a has 2"
square-roots.

Example 6. Let us look at Example (1.1) where n = 15 = 3! x 5!. The Chinese
Remainder Map is f : Z15 — Zs X Zs is n — (n mod 3,n mod 5). We know that



there are two perfect squares in Z;5 and they are 1 and 4. We have f(1) = (1,1)
and f(4) = (1,4). There are two square roots of 1 modulo 3, and they are 1
and 2. Similarly there are two square roots of 1 modulo 5, they are 1 and 4.
And two square roots of 4 modulo 5, they are 2 and 3.

So f(1) = (1,1) = (12 mod 3,12 mod 5) = (12 mod 3 ,4? mod 5) = (22 mod
3 ,12mod 5) = (22mod 3 ,42mod 5). If b*> = 1(mod 15), then f(b?) =
(b>mod 3,b>mod 5) = ((bmod 3)?>mod 3,(bmod 5)2mod 5). As f(b) =
(bmod 3,bmod 5), the valuesof bare f~1(1,1) =1, f~1(1,4) =4, f~1(2,1) =
11 and f~1(2,4) = 14. So the square roots of 1 modulo 15 are 1,4, 11, 14.
Proof: We consider the Chinese Remainder Map,

f:Zn—)Zpil X e XZP?.
We know that the restriction of f to Z, is also a bijection.
f:an)Zpelzl X oeen XZp;k.

Let a € (Z;)?, a perfect square modulo n i.e. a = b*(mod n), for some

b e Z,. Wehave f(a) = (a mod pi*,--- ,amod pi*) = (a1, --ax) € Z;il X oo X

Z;Zk' Let f(b) = (bmod pi*,--- ,bmod pi*) = (b1, -~ ,bx) € Z;il X oo X Lper..
k

Note that in a Chinese remainder map, f : Zy — Zy, X -+ X Ly, , Where
{n;}¥_, are pairwise relatively prime, and N = Hle ni, f(zy) = ((zy) mod
ny, -, (xy) mod ng) = ((z mod n1)(y mod ny) mod ny,---, (z mod ng)(y mod

ng) mod ng) = (T1y1,- -+, TkYk)-
So we have

(ala"'ak):f(a):f(bQ):(b%"" ’bi)'

So we have perfect squares a; = b?(mod pi), foralli=1,--- k.

On the other hand, if we have perfect square, a; = b?(mod p§*), for all i =
1,---,k, then let us call f=1(by,--- ,by) = b € Z (the restriction of f is also a
bijection). So we have

f(bQ) = (b2 mOdpila"' ab2 mOdPZ’“) = (b%"" ’bi) = (ala"' aak) :f(a)-

As f is a bijection, a = b*(mod n) i.e. a is a perfect square in Z'. This shows
that
a € (Z%)? if and only if a; € (Z;ei)Q, fori=1,--- k.
1

Each perfect square in Z;ei has two square roots, so a has 2k square roots.
1

This gives us the size of (Z))2.

k

k
(@)1 = TT 15071 = [T owir)/2 = o(m) /2"

=1

We formally conclude that any element a = b? € (Z)? has 2* square roots.

Let a = b*(mod n) and a = ¢*(mod n). So we have b*> = c?(mod n). This
amounts to saying that b7 = cZ(mod n;), for i« = 1,--- k. So each b; =
+¢;(mod n;) and there are altogether 2* possibilities. QED.

1.1.4 Testing of Quadratic Residuosity

We wish to test whether an integer a is quadratic residue modulo n. If ged(a, n) #
1, then a by definition is not a quadratic residue modulo n. So we assume that
a and n are relatively prime. We consider the following three cases:

1. n is an odd prime: We compute the value of a”= mod n. This can be
done using repeated squaring algorithm given below

It computes a® mod n where a € Z,, and e is a positive integer. Let the
binary representation of e = (ex_1ex—2---e1ep).



modExpN(a, e, n)

exp + 1

s< amod n

whilee > 1
if (e mod 2) = 1 then exp < (exp X s) mod n
s < 52 mod n
e+e=+2

return exp

k = [logye], so the loop is executed k times with k squaring and < k
multiplications over Z,. So the running time is O(loge(logn)?). If 1 <
e < n, then it is O(logn)?).

We shall see afterward that there is better method for testing quadratic
residuosity for an odd prime.

2. n = p* where p is an odd prime: We have already proved that a is a
quadratic residue modulo p* if and only if @ is a quadratic residue modulo
p. So this can also be done efficiently.

3. n is an odd integer: If the prime factorisation of n is known, then we can
use the previous method to determine whether a is a quadratic residue
modulo p for every prime factor of n. Then using this fact we can con-
clude about the quadratic residuocity of a modulo n (Chinese remainder
theorem). But if the factorisation is not given, there is no efficient algo-
rithm known to test quadratic residuocity. Factorisation is believed to be
a hard problem.

We shall see that the computation of Jacobi symbol, for which efficient
algorithm is known, gives partial answer.

If it is known that a is a quadratic residue modulo p, an odd prime, it is
necessary to find one b such that b> = a(mod p). We shall address this problem
afterward.

1.1.5 Square Roots of p — 1

Following theorem characterises the odd primes p such that p — 1 or —1 is a
quadratic residue modulo p. This has some interesting applications.
Proposition 16. Let p be an odd prime. p — 1 € (Z;)* if and only if p =
1(mod 4) i.e. p=4k+ 1.

Proof: By the Euler’s criterion, p — 1 is a quadratic residue modulo p if and
only if (p—1)P=1/2 = 1(mod p). If p is of the form 4k+ 1, then (p—1)/2 = 2k,
an even number. So

(p—1)% = (=1)* = 1(mod p).
If p = 3(mod p), then p =4k + 3 and (p — 1)/2 = 2k + 1, an odd number. So,

(p—1)%+1 = (—1)%**1 = —1(mod p).

QED.
Proposition 17. There are infinitely many primes p = 1(mod 4).
Proof: Let there be finite number of such primes, pi,--- ,pg, and let n =
4m? 4 1, where m = p; ---pr. Let p be a prime factor of n. Clearly p is not
equal to any one of py,---,px. We have (2m)? = —1(mod p). So —1 is a
quadratic residue of p and by our previous theorem, p = 1(mod 4). This con-
tradicts our assumption. QED.

Proposition 18. (Thue’s Lemma) Let p be a prime and «a is an integer such that
p fa. There exists two integers 2 and y, such that (i) 0 < |z, |y| < /p, and (ii)
azx = y(mod p).

Example 7. Let n = 13 and a = 7. We have 7Tz = y(mod 13). (2,1) is a
solution of the congruence satisfying 0 < 1,2 < +/13.



Proof: Let
A={au—v:u,v e ZN0<u,v<][{p]}.

Clearly there are [,/p] + 1 integers in the interval. So, the number of ordered
pairs (u,v) corresponding to the elements of A is greater than p. By the pigeon-
hole principle there are two distinct ordered pairs (u1,v1) and (ug, v2) such that
auy; —v1 = auz — va(mod p). So we have a(u; — uz) = (v1 — v2)(mod p). This
gives a solution of axz = y(mod p), where x = u; — ug and y = vy — va.

Both [z, |y| < \/p (as a prime cannot be a perfect square). If one of x or y is
0, the congruence ax = y(mod p) implies that the other one will also be 0. But
both z = u; — us and y = v; — v5 cannot be 0 as the ordered pairs are distinct.
So both z and y are non-zero. QED.

Theorem 19. (Fermat)
An odd prime p is expressible as sum of two squares if and only if p = 1(mod
4).
Proof: If p = a? + b%, then one of a or b is odd and the other one is even. We
assume that @ = 2c and b = 2d + 1. So a? = 0(mod 4) and »* = 1(mod 4),
implies that p = a® + b? = 1(mod 4).

If p = 1(mod 4), —1 is a quadratic residue modulo p. So we have an integer
a so that a? = —1(mod p), where ged(p,a) = 1.
At this point we invoke the Thue’s lemma. There is a solution (Xj,Yy) of
ax = y(mod p) such that 0 < |Xol,|Yo| < \/p. So we have

aXo = Yy(mod p),
(aX0)? = YZ(mod p),
a’X§ = Yg(modp),
-X3 = Yg(mod p), a® = —1(mod p)
X2 +Y$ = 0(mod p).

As p|(X§ + YY), X§ + Y§ = kp, where k > 1. But 0 < |Xol,|Yo| < /p. So,
X2 + Y2 < 2p, implies that k = 1. QED.

1.1.6 Computation of Fermat’s Two Square

The proof of Fermat’s two-square theorem depends on Thue’s Lemma and the
square-root of —1 modulo the prime p which is of the form 4k + 1. The proof
of Theu’s Lemma depends on pigeon-hole principle, and in that form it is not
computable.

But we can us the extended GCD algorithm to compute (Xp,Yy) as a solution
of ax = y(mod p). Consider the following is the sequence of remainders r;, i =
0,---,k,k+ 1, and Bezout’s coefficients x;,y;, ¢ = 0,--- , k, computed by the
extended GCD algorithm.

(TO =D, 130)5 (7"1 = G/,O, 1)) o a(riaxiayi) e (Tkaxkayk)a

where 711 = 0. As ged(p,a) = ry, = 1 = pxg + ayg. In general r; = px; + ay;.
The computation steps are as usual.

i1 = TiQi T Tit1,
Ti+1 = Ti—1 — Ti4Gq,
Yit+1 = Yi-1—Yi4i, 221, ak'

We continue the computation as long as r; > /p and stop at r; < ,/p. This is
possible as 79 = p > 0 = rg1. On termination we set Yy = r; and Xog = y;. We
know that r; = z;p + y;a i.e. Yy = a;p + Xpa, so we have aXy = Yy(mod n)
where 0 < Yy < /p.

We prove that 0 < |Xo| < /p. Consider following two equations.

ric1 = DPTi—1+ayi—1, (1)
PT; + ay;. (2)

Ti



() xy;— (2)xy;—1 gives us,

P(Tim1¥i — TiYim1) = YiTio1 — Yi—1Ti
px (=) =y —yioam
p = |yi7"i71 - yiflTi|

= |yilri—1 + lyi-1lri, viyi-1 <0,
y; and y;—1 have opposite signs.

> yilri-a-
We can prove by induction that z;_1y; — z;y,-1 = (—=1)""1. So,

p p p
S S SR - .
i1 Ti /D VP

Example 8. Let p = 83, a = 34, |V/83] = 9 So it Following is the table for
extended GCD computation.

| Xo| = [yi] <

Tl m | Y| G
0183 1 0| —
1134| 0 1 2
21151 1 | —-2]| 2
314 |-2] 5

So we have Yy = r3 = 4 and Xy = y3 = 5 such that 0 < Xp, Yy < v/83. We have
83 x (—2) + 34 x 5 =4. A solution of 34z = y(mod 83).

Now we turn our attention to the computation of the square-root of —1
modulo prime p = 1(mod 4). We want to compute an element a € Z; o)
that a® = —1(mod p). If we can find an element b € Z; \ (Z;)?, we may take
a=b" asa? = (prfl )2 = e —1(mod p) (Euler’s criterion).

We know that half of the elements of Z; are quadratic non-residue. So we
can use the following randomised algorithm.

sart-1(p)
do
b« rand{1,--- ,p—1}
a « pp—1)/4
while (a® mod p #p—1)
return a

The probability of picking a quadratic non-residue is % So the expected
number of times the loop is executed is 2. The probability that the algorithm
has not found a quadratic non-residue after k iterations is 1/2¥. The algorithm
when terminates gives the correct a. But its running time is a random variable
that is bounded. This type of algorithms are known as Las Vegas algorithm.

Modular exponentiation is the costly part of computation and we have seen
that it takes O(logn)?3) time.

We are now ready to express a prime p = 1(mod 4) as a sum of two squares

in the following way. The input is p, where p = 1(mod 4)
1. Find a € Zj, such that a* = —1(mod p).

2. Take a and run the modified extended-GCD algorithm to compute (Xp, Yp).

Example 9. Let p = 977 = 4 x 244 + 1. Take 19 € Zg;, \ (Z§;7)? so that

19077=1/4 = 795(mod 977) and 7252 = 976(mod 977). We have /977 > 31.
The run of the extended GCD algorithm on (p,a) is as follows:

AR
01977 1 0 —
11725] 0 1 1
21252 1 -1 2
31221 -2 3 1
41 31 3 | -4




At this point we stop computation where Yy = 31 and Xy = —4. We express
977 = Y§@ + X& = 312 + 42

Proposition 20. A prime p = 1(mod 4) can be represented uniquely as a sum
of two squares (ignoring sign and order).

Proof: Let p = a? + b = c? + d%. We rewrite it as

a’d® + b2d* — b*c® — b?d? = (a® + b*)d? — (2 + d*)b* = p(d® — b*) = 0(mod p).

So we have (ad)? — (bc)? = 0(mod p) i.e. (ad + bc) = 0(mod p) or (ad — be) =
O(mod p). But we know that a,b,c,d < /p. So there are two possibilities
either (i) ad — bc = 0, or (ii) ad + bc = p.

The second condition gives us

p? = (a® + b%)(c* + d?) = (ad + be)* + (ac — bd)* = p* + (ac — bd)*.

It is equivalent to ac = bd.

We have two conditions (i) ad — be = 0, or (ii) ac = bd.

If we consider the first condition ad = be. We know that ged(a,b) = 1, as p is
prime. So alc i.e. ¢ = ak and we get ad = kab implies that d = kb.

But then p = ¢2 + d? = k?(a? +b?) and p is prime. So k = 1, which implies that
a=candb=d.

Similarly from the other condition we get the same result. QED.

Proposition 21. If n be a positive integer written as n = N?m, where m is
square free, then n can be represented as sum of two squares if and only if m
does not contain a prime factor of the form 4k + 3.

Proof: Let m has no prime factor of the form 4k+3: if m = 1, then n = N2+02.
If m = p;1--- pg, where p; is either 2 or any prime of the form 4k 4+ 1. So each
pi = a? + b2. Given two such primes p; and p; we have

pip; = (ai +b7)(a3 +b3) = (asa; + bib;)* + (aib; — bia;)*.

So by induction we can prove that m can be expressed as a® + b%. And finally
n = (aN)?+ (bN)2.

Let n = N?m can be written as a® + b%. If m = 1, there is nothing to prove.
Let m > 1 and also let ged(a,b) =d, a = dA, b = dB. We have

a®> 4+ b* = d*(A%* + B®) =n = N?m.
m is square free so d*|N?. So we have
N2
A2+B2:¥m:qp,
where p is an odd prime factor of m. So,

A% + B? = 0(mod p).

As ged(A, B) = 1, either A or B is relatively prime to p. Otherwise p will divide
both of them and the ged(A, B) > p, a contradiction.
Let A be relatively prime to p. So we have

AA" = 1(mod p)
So we have (A? + B?)(A’)? = O(mod p), implies that (4A4’)? + (BA’)?

1+ (BA")? = 0(mod p). So —1 is a quadratic residue of p implies that p
1(mod 4). QED.

Proposition 22. A positive integer can be represented as a sum of two squares
if and only if its prime factors of the form 4k + 3 occurs in even power.
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